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MEAR: KFEB. Rl Bk, BHRE (EXRTARER (EXTAREREIMRER) )

Fg | itp | iFaTERE MMEEE | ANFRBE  EXMACER | HILBERES
(A B A R A RAH A TR
7
L1 | &K | EBEXYAREN A FOER, 0-6 6.0 4.0 6.0
HAGMEER >3000 n?, F64 ;
1000 Mt < BfEEAR <3000 mt , 344,
300 M<AER <1000 nf , 824
AR <300 nf, FF
1.2 | EA | EBERYAZENAGEES, RBEZ AT, FH00E (4/3/2/1/0.5/0.3/0) 0-4 3.0 4.0 2.0
REFAOGEE R AR (HATH) A mFIEAH, EUNAEL,
2 HA | EAEE 0-4 4.0 4.0 4.0
3 BR  EEHE 0-3 3.0 2.0 2.0
4 R ERZETMER 0-5 5.0 5.0 5.0
5 AR  AMAEEREHEELK 0-4 4.0 4.0 4.0
6 HA  AREH. FE)FFE 0-3 2.0 2.0 2.0
7 BR  EHEHE 0-4 4.0 4.0 2.0
8 BR  NAME 0-4 4.0 4.0 3.0
9.1 | HA | AEMB24NHRS, BIRERESE RN IEER—/ N B, TEE (4,3,2, 1,0) 0-4 4.0 4.0 4.0
9.2 | A AExPEERRERE. ERAH. BREHEARKEHE =220 E, T2 HE (4,32, 1,0) 0-4 4.0 4.0 4.0
10 #HR  FTREROGLEFEE. KiE 0-5 5.0 5.0 5.0
£t 0-50 48.0 46.0 43.0
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MEAR: AFEB. R Beh. BHRE (EXRTARER (EXTAREREMRER) )
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HTE A

BB R A RGBS E AR,
EAASER >3000 nf, B6a ;
1000 M < BfEEAR <3000 mt , 544,
300 M <AEEAR <1000 nt , 1524
AEER <300 nt, R

BB R A e e, RIBIEE ATy, T 0EE (4/3/2/1/0.5/0.3/0)
RWEFFCEE HRAE SR (HHEEH) M MmF AR, TN E.

Bit. 34 % 47

I
BT AT AR
MR EE R
AR, FT %

SRS

AERE 24N RS, FER MR R RS R AP E R — /N AR, R (4,3,2, 1,0)
AHEXPALE R ERIE. HRER. WREEARANE =220t FakE (4,32, 1,0)
TRERAEH M. ik
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MEAR: AFERB. R Beh. BRRE (EXRTARER (EXTAREREMRER) )
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HTE A

BB R AR i S E AR,
EAAER >3000 nf, B6a ;
1000 M < BfEEAR <3000 mt , 344,
300 M < ABEEAR <1000 nt , 524
AEER <300 nt, RS

BB R A e e, RIBIEE AT, T 0EE (4/3/2/1/0.5/0.3/0)
RWEFFCEE HRAE SR (HHEEH) M MmF AR, TN E.

Bit. 34 % 47

I
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SRS

AERE 24N RS, FER MR R RS R AP E R — /N AR, R (4,3,2, 1,0)
AHEXPALE R ERIE. HRER. WREEARANE =220t FakE (4,32, 1,0)
TRERAEH M. ik
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